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package main o
o

inport (

"ftn

"gi t hub. cont gogf/ gf / v2/ os/ gcache"
"gi t hub. conl gogf/ gf/v2/ os/ gct x"

)
func main() {
11
/'l gcache
var (
ctx = gct x. New()
cache = gcache. New()
)
11
err := cache. Set(ctx, "k1", "v1", 0)
if err I'=nil {
panic(err)
}
11
value, err := cache. Get(ctx, "k1")
if err I'=nil {
pani c(err)
}
frt.Println(val ue)
11
size, err := cache. Size(ctx)
if err I'=nil {
panic(err)
}
frt. Println(size)
11
b, err := cache. Contains(ctx, "k1")
if err 1=nil {
panic(err)
}
frt. Println(b)
11
renovedVal ue, err := cache. Renmove(ctx, "k1")
if err '=nil {
panic(err)
}
fmt.Println(renmovedVal ue)
/1 GC
if err = cache.dose(ctx); err !I=nil {
pani c(err)
}
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package nain

import (
Wt
"gi t hub. conf gogf/ gf / v2/ os/ gcache"
" gi t hub. cont gogf/ gf/v2/ os/ gct x"

"time"
)
func main() {
var (
ctx = gctx. New()
)
// 1000
_, err := gcache. Set | f Not Exi st (ctx
if err I=nil {
pani c(err)
}
11
keys, err := gcache. Keys(ctx)
if err I'=nil {
panic(err)
}
fm.Println(keys)
11
val ues, err := gcache. Val ues(ctx)
if err I=nil {
pani c(err)
}
frt. Println(val ues)
11
val ue, err := gcache. Get Or Set (ct x
if err I'=nil {
panic(err)
}
ft.Println(val ue)
I
datal, err := gcache. Data(ctx)
if err I=nil {
pani c(err)
}

fm.Println(datal)

/1 1k1:v1l
tinme. Sl eep(time. Second)

/1 k1:v1k2:v2

data2, err := gcache. Data(ctx)
if err I=nil {

panic(err)
}

frmt.Println(data2)
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Get Or Set Func*

Get Or Set Funcf func(context. Context) (interface{}, error)f

Get Or Set Funcf f Get Or Set Funcf f (f )Get Or Set FuncLockf f f

package main

inport (
"t
"gi t hub. cont gogf/ gf / v2/ os/ gcache"
"gi t hub. conf gogf/ gf / v2/ os/ gct x"

“time"
)
func main() {
var (
ch = make(chan struct{}, 0)
ctx = gctx. New()
key = “key’
val ue = “val ue’
)
for i :=0; i < 10; i++ {
go func(index int) {
<-ch
_, err := gcache. Get Or Set FuncLock(ctx, key, func

(ctx context.Context) (interface{}, error) {
frt.Println(index, "entered")
return val ue, ni

}, 0)
if err '=nil {
panic(err)
}
(i)
}
cl ose(ch)
tinme. Sl eep(tinme. Second)
}
9 entered

gor out i neGet O Set FuncLockgor out i negor outi ne
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package main

inmport (
"f ot
"gi t hub. conf gogf/ gf / v2/ os/ gcache"
"gi t hub. conf gogf/ gf / v2/ os/ gct x"
"time"

func main() {

var (
ctx = gctx. New()
cache = gcache. Newm(2) // LRU
)
/1 10
for i :=0; i < 10; i++ {
if err := cache.Set(ctx, i, i, 0); err !'=ni
panic(err)
}
}
size, err := cache. Size(ctx)
if err I=nil {
pani c(err)
}
fm.Println(size)
keys, err := cache. Keys(ctx)
if err I'=nil {
panic(err)
}
fm.Println(keys)
/11
val ue, err := cache.Get(ctx, 1)
if err 1=nil {
panic(err)
}
frt. Println(val ue)
Il (1)
11

time.Sleep(3 * tinme.Second)
size, err = cache. Size(ctx)
if err I'=nil {

panic(err)
}
fm.Println(size)

keys, err = cache. Keys(ctx)

if err '=nil {
panic(err)

}
ft.Println(keys)

}
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CPU. Intel (R) Core(TM i5-4460 CPU @ 3.20GHz
MEM 8GB
SYS: Ubuntu 16. 04 and64

j ohn@ ohn- B85M ~/ Wor kspace/ Go/ GOPATH sr c/ gi t hub. coml gogf/ gf / v2/ os/ gcache$
go test *.go -bench=".*" -benchnem

goos: |inux

goarch: andé4

Benchmar k_CacheSet - 4 2000000 897 ns/op
249 B/ op 4 allocs/op

Benchmar k_CacheGCet - 4 5000000 202 ns/op
49 B/ op 1 allocs/op

Benchmar k_CacheRenove- 4 50000000 35.7 ns/op
0 B/op 0 al l ocs/ op

Benchmar k_CachelLr uSet - 4 2000000 880 ns/op
399 B/ op 4 allocs/op

Benchmar k_CachelLr uGet - 4 3000000 212 ns/op
33 B/op 1 allocs/op

Benchmar k_CacheLr uRenove- 4 50000000 35.9 ns/op
0 B/op 0 all ocs/op

Benchmar k_I nt er f aceMapW t hLockSet - 4 3000000 477 ns/op
73 Bl op 2 allocs/op

Benchmar k_I nt erf aceMapW t hLockGet - 4 10000000 149 ns/op
0 B/op 0 all ocs/ op

Benchmar k_I nt er f aceMapW t hLockRenove- 4 50000000 39.8 ns/op
0 B/op 0 al l ocs/ op

Benchmar k_| nt MapW t hLockW t hLockSet - 4 5000000 304 ns/op
53 B/ op 0 all ocs/op

Benchmar k_| nt MapW t hLockCet - 4 20000000 164 ns/op
0 B/op 0 al l ocs/ op

Benchmar k_I nt MapW t hLockRenove- 4 50000000 33.1 ns/op
0 B/op 0 all ocs/ op

PASS

ok comand- | i ne-argunents 47.503s
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